P1 schematics



Hardware kit

# Image Name Note QTY
9 - P1 Sandwich plate aluminium 10mm, black 2
10 \ Cilindrical socket head M8x20 black, steel 20
1 @ Nut M6 DIN 985 galvanised 4
12 @ Nut M8 DIN 985 galvanised 4
13 B gandwich plate 40x40 aluminium 10mm, black 1
14 ¥\ P1pedal bracket v2 aluminium 10mm, black 2
15 ( Countersunk bolt M8x20 black, steel 20
16 ﬁ, Socket head bolt M6x12 4
17 ﬁ, Socket head bolt M6x16 galvanised 20
18 i’ Socket head bolt M6x20 4
19 ﬁ, Socket head bolt M8x12 galvanised 4
20 ﬁ, Socket head bolt M8x16 galvanised 50
21 QQ ggxgg ::(:a;r; for connection angle 15
22 W Cover cap 40 x 120 4
23 YR Cover cap 40 x 160 4
24 ‘ Cover cap 40 x 40 5
25 ' Cover cap 40 x 80 1
26 @ Corner bracket 40x40 15
27 & Handle M8x20 6
28 . Rubber feet #40x20mm 4
29 W‘;‘ Slot nut M6 25
30 ¥« SsiotnutMs 100

F 4




Profile kit

# Image Profile type Length Note QTY
1 @ 40x160L 1400mm base 2
2 @ 40x160L 500mm horizontal base 2
3 @ 40x120L 780mm uprights 2
4 & 40x80L 580mm side mount 1
5 -& 40x80L 580mm gi‘:ﬂa;f::ﬂg" - thread 1
6 / 40x40L 580mm seat support 2
7 / 40x40L 580mm :Ae:fh;ze‘:“m - thread 2
8 / 40x40L 320mm side mount support 1
Front mount kit
# Image Name Note QTY
31 \ Cilindrical socket head M6x20 black, steel 4
32 \ Cilinrical socket head M8x20 black, steel 6
33 \ Cilindrical socket head M8x40 black, steel 4
34 @ Nut M8 DIN 985 galvanised 12
35 g Xw Dash mount V6 bolt-on aluminium 15mm, black 1
36 g Dash mount V6 bolt-on - side plate  aluminium 10mm, black 2
37 ( Countersunk bolt M8x25 black, steel 4
38 ( Countersunk bolt M8x30 black, steel 4
39 0 ‘ gg\;grs igg for connection angle 4
40 @ Connector bracket 40x40 4
.
41 & 7 M6x10 Spacer steel male-female 4
Wheeldeck kit

# Image Name Note QTY
41 N\ Cilindrical socket head M8x20 black, steel 6
42 f Button cap screw M6x16 galvanised 4

-7y

Wheeldeck bracket

aluminium 10mm, black







/

35

23

>
I

| D—— —

AT

Z——
=

R\
‘ 3

&

S=\)

Front mounting bracket

embly

ctor bracket ass

Conne

Pedal deck

20

embly

Sandwich plate ass:

ctor bracket parts

Conne



